Dual Steering and Non-Steering Caster Assembly




Dual Steering and Non-Steering Caster Assembly

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1147607 Dual Caster Steering Assembly - Right (3") 1 1
2 1147606 Bracket, Caster - Painted 1 1
3 1147526 Caster, Non-Locking (3") 1 1
4 1147527 Caster, Locking (3") 1 1
5 1153746-NLA | NLA - Steering Bracket Assembly 1 1
6 1186906-NLA | NLA - Screw, Hex Head (5/16 x 3") 1 1
7 1143736-NLA | NLA - Bushing, Wedge - Lower Leg 2 1
8 1152558-NLA | NLA - Washer, Plastic 1 1
9 1147513-NLA | NLA - Dual Trim, Caster Bracket 1 1
10 1186907-NLA | NLA - Nut, Hex Head, Flange (5/16-18) 1 1
11 1186908-NLA | NLA - Washer, Plain (.370 x .868 x .064) 1 1
12 1152559 Washer, Lock, Internal Tooth 1 1
13 1147523-NLA | NLA - Nut, Acorn 1 2
1 A 1147608 Dual Caster Steering Assembly - Left (3") 1 1
2 1147606 Bracket, Caster - Painted 1 1
3 1147526 Caster, Non-Locking (3") 1 1
4 1147527 Caster, Locking (3") 1 1
5 1153746-NLA | NLA - Steering Bracket Assembly 1 1
6 1186906-NLA | NLA - Screw, Hex Head (5/16 x 3") 1 1
7 1143736-NLA | NLA - Bushing, Wedge - Lower Leg 2 1
8 1152558-NLA | NLA - Washer, Plastic 1 1
9 1147513-NLA | NLA - Dual Trim, Caster Bracket 1 1
10 1186907-NLA | NLA - Nut, Hex Head, Flange (5/16-18) 1 1
11 1186908-NLA | NLA - Washer, Plain (.370 x .868 x .064) 1 1
12 1152559 Washer, Lock, Internal Tooth 1 1
13 1147523-NLA | NLA - Nut, Acorn 1 2
B,C 1147533-NLA | NLA - Dual Non-Steering Caster Assembly - Right 1 1
(3"
B,D 1156581-NLA | NLA - Dual Non-Steering Caster Assembly - Left 1 1
3"
NOTE: A -Kitincludes items 2 - 13. &)
B - Not Shown. Includes items 2-4 and 6-13. Steering Bracket item #5 is not included.
C - Part number 1147533 is no longer available. Use part number 1147607 as a replacement.
D - Part number 1156581 is no longer available. Use part number 1147608 as a replacement.




